

Besitzfeld

الحل

$$x \neq 0$$

$$x-1 \neq 0 \rightarrow x \neq 1$$

$$f(x) = \sqrt{\frac{x-1}{x} - \frac{x}{x-1}}$$

$$\frac{(x-1)^2 - x^2}{x(x-1)} = \frac{x^2-1-x^2}{x^2-x}$$

$$\frac{1}{x} - 1$$

$$Df = (-\infty, 0) \cup \left[\frac{1}{x}, 1\right)$$

$$f(x) = \frac{1}{x+1} - \frac{x}{x}$$

$$x \neq -1, 0, 1, 2$$

$$x \neq -\frac{1}{f}$$

$$\frac{x}{x-1} + \frac{1}{x+2}$$

$$\frac{x}{x-1} + \frac{1}{x+2} \neq 0$$

$$\frac{x^2+x+2-1}{(x-1)(x+2)}$$

$$Df = \mathbb{R} - \left\{-1, 0, 1, 2, -\frac{1}{f}\right\}$$

$$f(x) = \sqrt{\left(\frac{1}{x}\right)^2 - 9} \cdot (x^2 - 1)$$

$$\frac{-2}{x} - \frac{2}{x}$$

(4)

$$Df = (-\infty, -1] \cup \left[\frac{1}{x}, +\infty\right)$$

$$\sqrt{x-1} + \sqrt{y+1} = 3$$

$$x-1 \geq 0 \quad x \geq 1$$

$$\sqrt{y+1} = 3 - \sqrt{x-1} \Rightarrow 3 - \sqrt{x-1} \geq 0$$

$$x-1 \leq 1$$

$$Df = [1, 2]$$

$$x \leq 2$$

$$f(x) = \frac{\log_2(x^2 - x - 2)}{\sqrt{x^2 - 1} + 1}$$

$$x^2 - x - 2 > 0$$

$$\frac{-1}{x} - \frac{1}{x}$$

$$\sqrt{x^2 - 1} + 1 \neq 0$$

$$x^2 - 1 \geq 0$$

$$\frac{-1}{x} - \frac{1}{x}$$

$$Df = (-\infty, -1) \cup (1, +\infty)$$

Scb6

$$\sqrt{r^2 + ar - r^2}$$

$$-(a+r)(r - \frac{r}{r}) = -ar - \frac{1}{r}r + r \Rightarrow a = -\frac{1}{r}$$

$$\frac{r}{r} + (-\frac{1}{r}) = 1 \quad b = \frac{r}{r}$$

$$f(x) = \begin{cases} rx - r & ; x > 1 \\ rx + r & ; x < 1 \end{cases}$$

$$f(x) = rx - r \quad \xrightarrow{x > 1} \quad rx - r - x = rx - r - x \Rightarrow x > 1$$

$$f(x) = rx + r \quad \xrightarrow{x < 1} \quad rx + r - x = rx + r - x \Rightarrow x < 1$$

$$Df = [-r, +\infty)$$

$$f(x) = f(-r) + a$$

$$f(x) = \begin{cases} (a+1)(r+r) & ; x > 1 \\ ra + ra & ; x < 1 \end{cases}$$

$$(a+1)r = ra - (-r)$$

$$1 \cdot a = -1$$

$$(a = -1, 1)$$

$$f(r - \sqrt{r}) + f(r + \sqrt{r})$$

$$\sqrt{r - \sqrt{r}} + \frac{1}{\sqrt{r - \sqrt{r}}} + r + \sqrt{r + \sqrt{r}} + \frac{1}{\sqrt{r + \sqrt{r}}} + r =$$

$$\frac{\sqrt{r - \sqrt{r}}}{\sqrt{r}} + \frac{\sqrt{r}}{\sqrt{r - \sqrt{r}}} + \sqrt{r + \sqrt{r}} + \frac{\sqrt{r}}{\sqrt{r + \sqrt{r}}} + r =$$

$$\frac{\sqrt{r+1}}{\sqrt{r}} + \frac{\sqrt{r}}{\sqrt{r-1}} + \frac{\sqrt{r+1}}{\sqrt{r}} + \frac{\sqrt{r}}{\sqrt{r+1}} + r \Rightarrow \frac{\sqrt{r}}{r} + \frac{\sqrt{r}(r-1)}{r}$$

Subo

$$\frac{r(r+1)}{r-1} + r$$

$$\frac{f(\sqrt{x})}{\sqrt{x}} + f = \cancel{\sqrt{x}} + \cancel{f} \quad (\sqrt{x} + f)$$

-1

$x = -x$
→

$$x f(x) - x f(-x) = f'_x - x$$

$$x f(-x) - x f(x) = f'_x + x$$

$$f f(x) - x f(-x) = 1 x' - x$$

$$x f(-x) - x f(x) = 1 x' + x$$

$$- \Delta f(x) = 1 x' + x$$

$$f(x) = \frac{1 \cdot x' + x}{-\Delta} = -f'_x \frac{x}{\Delta}$$

$$(x+y) f(x) - x f(x+y) = f'_x - m x + f'_m - 1$$

9

$f(0)$

$$x(f(0)) - 0 = f'_m - 1$$

$$x f(0) = f'_m - 1$$

$$x f(0) = 9m$$

$f(-x)$

$$0 + x f(0) = 1 x + f'_m + f'_m - 1$$

$$x f(0) = \Delta m + 1 \Delta$$

$$9m - 1 = \Delta m + 1 \Delta$$

$$9 \cdot 1 \Delta = f(0) = \frac{x \Delta}{f}$$

$$f'_m = 1 \Delta$$

$$m = f'_m$$

$$f(x) + f\left(\frac{1}{x}\right) = \frac{f'_x + 1 f'_x + f'_x}{x}$$

-1.

$$= a x + b + \frac{a}{x} + b = f'_x + \frac{f'_x}{x} - 1 x$$

$$x f(0) = f'_x$$

$$f'_x = f'_x$$

$$a = f'_x$$

$$b = -1 x$$

$$b = -9$$

$$x f(1) = f'_x$$

$$f(1) = f'_x$$

$$f(x) = f'_x - 9 \quad \xrightarrow{f(1)} = f(1) = f'_x - 9 = -9$$